y—
V & %
1 J[ZA SER204E 4 ]
ES X1 B [ u
F# B i JE 1 [T ES S S it i
°C m,/ s A &[] N I £ °C
= Y RS 0 O IF T 2 0% T 5 T00Om (06~18h) (18~%o6h) | 7 | 1 km| OOFF] 210
1f19.0 | 4.6 [11.5 |w 2.1 |SE 4.0 |w 4.1 |WNW - 27.8 | P RS H1 f11.0 [30.0 | 8.6 | 7.3
2f16.4 | 8.8 |12.5 N 3.6 |SE 3.0 |s 4.6 |W 3.1 | Witk E ARSI H4 | 8.4 [30.0 | 9.9 ] 6.3
3017.8 | 8.9 [13.3 [N 1.5 |ESE 3.0 [E 2.6 |NNW 4.1 | P i H2 f10.8 [30.0 | 6.9 | 5.1
4)18.4 | 9.9 |13.7 |NNE 1.0 |s 2.0 [s 5.2 |W 8.2 | HENx I H2 | 7.4 [20.0 | 7.4 | 5.5
5019.0 |10.1 |14.1 NNE 2.6 |SE 4.0 |s 4.1 |nw 8.7 | him Wi H2 §10.4 |25.0 | 8.2 | 3.8
6§19.4 | 9.3 [14.2 INE 2.6 [E 2.0 [E 3.1 N 2.1 | Pemg H3 f1r.1 [25.0 [ 9.3 | 5.0
7016.3 | 9.9 [13.1 [N 3.1 [E 3.0 [E 3.6 |SSE 6.2 | ERFx[H s, maro | F3 | 1.1 115.0 | 7.4 | 5.5
8)13.5 [10.3 [11.5 |NNE 8.2 |NNE 9.0 IN 9.8 |ENE  28.8 | ki, wafko| MkE L3 —|60]82]70
of17.4 [11.2 [13.0 |NNE 6.2 [N 6.0 [NE 4.1 INNE 18.0 | A% —WiE | &AW H3 ] 3.2 [30.0 | 8.2 ] 6.2
10011.3 | 9.2 | 9.8 INE 1.0 |NNE 4.0 |NNE 3.1 |ESE 4.1 | & % — R L2 —]10.0 | 5.2 | 1.9
11f19.0 | 9.4 [13.4 |NNE 3.6 [E 5.0 |SSE 1.5 |\NE 8.7 | W& Ns| &wrxms—wsma| H2 | 5.9 [15.0 | 5.1 ] 2.6
12§18.8 [11.3 |14.6 |E 1.5 |SE 3.0 |s 3.6 |w 51| & EST H3 | 3.6 [20.0 | 5.8 | 5.7
13§14.9 | 8.9 [10.2 [N 5.7 |NNE 4.0 |NNE 3.6 |SE 9.8 | A= R I L3 —|10.0 | 3.7 | 1.6
14f16.0 [ 9.3 |12.0 |N 2.6 [N 2.0 [SE 3.1 [NNW 4.1 | WS i F3 ] 42|70 33| 42
15§20.7 | 9.5 |15.0 |ESE 1.5 |SE 2.0 |s 4.6 |NNW 6.2 | I Witk —Mp& | H2 11.7 110.0 | 4.6 |-0.2
16§20.5 [12.5 [16.9 INE 1.0 [Ssw 3.0 |sw 6.2 |sw 2.1 | 2&—mrhE = 5 | 445009/ 3.5
17§19.3 [13.8 |16.4 |SSE 4.6 |S 3.0 |ESE 2.6 |SSE 3.1 | &% KW L2 —115.0 | 8.4 | 4.1
18)14.6 [12.3 |13.2 N 5.7 IN 5.0 [N 6.2 |E 15.9 | /M R L2 —l10.0 | 4.6 | 6.2
19§19.1 [12.0 [15.0 [N 8.2 |NNE 7.0 |NNE 6.7 IN\NE 13,9 | &R B F3 | 3.5 [40.0 | 9.0 | 7.6
20017.8 |12.6 |15.0 [N 6.2 |NNE 8.0 |E 3.1 INNE 12,9 | %R | BB H3 ] 1.5 [30.0 | 9.6 |12.2
21]18.5 |11.9 [15.0 |NE 3.1 [E 5.0 |ENE 5.2 [N 14.9 | HERF~ & =W 03 ] 4.8 [15.0 | 7.5 [ 0.2
22§20.9 |11.0 |15.2 |E 2.1 |E 3.0 |SE 2.6 |NNE 9.8 | W= =i H3 | 9.4 [15.0 | 5.4 | 0.3
23]22.5 |11.8 |16.8 |E 2.1 |SSE 4.0 |s 3.6 |SSW 4.1 | &N St | H4 | 4.4 [15.0 | 3.7 | 4.3
24]20.4 |15.2 |17.5 |[SW 5.2 |sw 7.0 |sw 6.2 |sw 18.0 | MFFx & 2 L2002 100]f 6.4] 4.1
25017.6 |13.0 |14.5 [ENE 2.1 |E 6.0 |E 3.6 |NNE 6.2 | EWrxIE = H3 | 5.7 [15.0 | 5.1 | 5.5
26]15.6 [12.0 [13.5 [ENE 3.1 |ENE 3.0 |SE 2.1 |SE 6.2 W % EXEYE Lifoz2]isof82] 43
27018.7 |10.8 |14.5 [N 3.1 [E 3.0 |SE 2.1 |sw 3.1 —WERNARE | =g L1]59]50]40]3.38
28]19.3 |12.9 |15.7 [E 3.1 |E 3.0 |ESE 3.1 s 2.1 | B aE | EeiE H2 ] 6.3 [15.0 | 7.7 | 4.0
29]22.2 |13.4 |17.3 [N 3.1 |ENE 1.0 |SSE 3.11s 4.1 | WE—HEE b 05 | 8.6 [10.0 | 7.7 | 1.8
30025.8 |15.0 |19.5 [E 1.0 |E 3.0 |Ssw 5.2 |w 3.1 | e S H5 f11.6 | 5.0 | 5.2 | 2.3
RE204E 5
ES X1 B [ u
F# R B JEIOE ES ke ESo IS E
°C m,/ s A &[] BN I £ °C

nlEe [ RBE] 75| 09 T 2 T 50 1000m]| (06~18h) | (18~306h) | | [ km[ 09F[ 211
1§24.9 [17.6 ]20.3 [Ssw 5.2 |S 5.0 |S 6.2 |SSW 8.7 | & I ke | 5[ 7.9 |50 7.5 58
2§20.5 [17.1 |18.5 N 2.1 |ENE 2.0 |E 3.6 |SE 5.1 | k4 & i L3 -1 90| 73|52
3l21.4 [17.2 [18.4 [N 5.7 IN 5.0 [N 3.6 |ENE  10.8 | WiftE & 31230 49| 24
4f21.0 [17.2 |18.4 INE 2.1 |NNE 2.0 |E 5.2 [ENE  10.8 | & & L3 —l10.0 ] 6.2 | 3.8
5020.9 [16.0 [18.5 [E 3.1 |SSE 4,0 |sw 3.1 |w 4.1 | 2% —0rR | 2R L1foz2]15.0]| 45| 4.5
6§24.4 [15.7 [19.4 N 5.2 |\ 1.0 |S 7.2 |Nw 4.1 | PerE R 12T 50008956
7026.3 |15.2 |20.5 |ESE 2.6 |ESE 3.0 |s 3.6 |Nw 6.2 | BE—Rpia H4 J11.6 20.0 | 2.3 | 0.8
8)23.6 [17.1 |19.3 |ENE 2.6 |E 3.0 |E 4.6 |ENE 7.2 | R H3 | 8.3 [20.0 | 6.7 ] 2.8
9f23.2 [16.2 |18.7 |N 3.6 [E 4.0 |SE 2.6 |NNE 5.1 | & H3 | 2.6 [15.0 | 8.0 | 5.4
10§16.4 [13.8 13.5 |NNE 2.1 |ENE 3.0 INE 2.6 |E 6.2 |m F3 —110.0 | 7.7 | 5.4
11f13.6 | 9.7 [11.4 |NNE 3.6 |NNE 3.0 |NNE 3.6 |NE 11.8 | WtklFx = L3 —|40]75]53
12§14.8 [10.9 [12.4 |NNE 2.6 |ENE 4.0 |ENE 4.6 |NE 7.2 | & Kifi—FFE | F3 —120.0 1 6.9 | 5.7
13013.4 | 8.9 |11.4 |N 6.7 IN 7.0 IN 4.6 |NE 15.9 | &—HKFE EfE W | L3 —[20.0 | 4.6 | 5.0
14f17.1 [10.5 |12.7 N 3.6 [N 4.0 |ENE 2.1 [SE 8.7 | &% I 2] 12|30 43] 5.3
15022.0 [12.6 [16.9 |E 2.1 |ESE 3.0 [E 2.1 |wNw 2.1 | MR H2 f10.2 | 8.0 | 6.0 | 3.2
16§23.0 |14.5 [18.1 |NNE 2.1 [E 4.0 |SE 3.1 |ESE 3 R S Hl o5 | 7.3 80 7.3 ] 4.5
17§23.3 [15.7 [18.6 [N 2.6 [E 5.0 [E 3.1 |NNE 4.1 | WE—Hr2 B H3 | 5.7 80| 6.5]( 3.7
18§23.4 [15.6 [18.7 |E 3.1 |E 3.0 [E 2.6 |ESE 3.1 | B —HE s, mews | 05 | 8.4 [15.0 | 5.9 ] 4.0
19§23.1 [15.5 [18.8 [E 1.0 |s 5.0 |s 4.6 |S 10.8 | ERFx [ KW Lif19]40]|52]60
20024.4 |16.8 [20.4 [ssw 9.8 |swW 5.0 |sw 6.7 |s 34.0 | 2 —FE 2 20450 47| 48
21024.9 |15.4 [19.6 |NW 1.0 [SSE 4.0 |S 5.2 |w 9.8 | B i H4 §10.2 [15.0 | 6.1 | 4.5
22025.6 |16.1 |20.9 [sw 4.1 [SSw 6.0 [SSW 4.6 [sW 8.7 | MEtkiEE bl H5 | 9.6 [15.0 | 2.8 | 3.8
23029.1 118.9 [23.0 |ENE 1.5 |NE 1.0 |s 3.1 |ESE 3.1 | HEtR— Wi M H5 1 9.9 40] 63|08
24]25.7 118.9 20.6 |SSW 3.1 [sw 5.0 [S 5.2 |SSW 7.2 | HEL RN W H5 | 4.1 [20.0 | 8.3 | 5.0
25023.1 |18.2 |20.1 |wNw 2.6 IN 2.0 INE 1.0 |sw 17.0 | WthE R F2 —|50]31] 1.1
26]27.4 119.3 [22.5 |E 2.1 |SE 3.0 [s 7.2 |ENE o R TR lits i H2 | 8.0 [10.0 | 6.5 | 3.6
27]27.8 |18.1 [22.1 [N 3.1 N 4.0 |ESE 3.6 |Nw 6.2 | W i H3 §13.0 [30.0 | 6.8 | 5.0
28]25.7 |18.1 |21.1 [S 3.1 |SSE 5.0 |s 5.2 |Wsw 3.1 | 2Fr 4 LN H5 | 3.8 [10.0 | 6.3 | 2.7
29]18.7 |15.9 |16.3 [SE 3.1 |SE 2.0 |ENE 2.1 |SSE 13.9 | /M ElFx [ L2 —|60]31]3.7
30017.2 |14.2 |15.0 |NNE 3.1 |NNE 3.0 INE 2.6 |E 10.8 | 24 il F3 —| 30| 41] 238
K31 BRACH A RN I 6. 0N 507N 5.3 |ENE 8.7 |’ L ol RO B BN
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204 6 J]

ES X1 B [ u
F# R B R ES ke ESo ISt E
°C m,/ s A K IH] N I EC

nlEe [ RBR] 75| 09 T 2 T 50 1000m]| (06~18h) | (18~306h) | | [ km[ 09F[ 211
222 |13.0 |17.9 [N T.0 [ESE 3.0 |5 2.6 |N 11| MR T FEG | 12 J1L3 [30.0 | 5.8 | 3.3
2§20.4 [17.0 [17.8 |SSE 1.0 |s 3.0 |sw 2.6 |SSW 6.2 | &% 5§ H5 —|15.0 | 6.5 | 6.9
3J16.1 |14.9 |15.5 |NNE 4.6 |NNE 4.0 |NNE 3.1 [E 15.9 | W ElFx [ L3 —| 30]51]39
4f23.1 [14.3 |17.7 N 3.1 |NNE 1.0 |E 3.1 |ENE 4.1 | & H3 | 1.5 [15.0 | 8.2 | 3.6
5020.8 |16.4 |18.1 |NNE 1.0 N 3.0 |SE 2.6 |SSE 6.2 | BEREL[E F3lo1]30]65]52
6§27.6 [18.0 [22.5 |sw 4.6 |SSW 4.0 |sW 4.6 |SW 7.2 | WEEE & 2 L1 ] 96150 6.7]| 5.5
7026.0 [20.4 [22.6 [E 4.1 s 3.0 |s 4.6 |ESE 3.1 | N H4 | 6.4 [15.0 | 8.4 | 5.5
8)23.9 [19.4 |21.1 N 1.5 |NE 2.0 |E 2.1 |ENE 2.1 Blos]|50]|43]) 40
9f22.9 [20.1 |20.6 |W 2.1 |NNW 1.0 |sw 3.6 [E 1.0 ; 305505335
10§27.0 [16.9 [21.6 |N 1.5 |s 4.0 |sw 3.1 INE 3.1 | WE H3 f11.8 [10.0 | 3.9 | 2.6
11§25.2 [19.5 [21.7 |SSE 1.0 [SE 2.0 [S 4.1 |ENE Lo | F3 ) 2350 47| 4.2
12§20.8 [16.9 |18.2 |NNE 2.6 [NE 3.0 N 4.1 INE 7.2 | MR L3 1.1 |30 1.8 |-1.1
13]28.0 [14.9 [21.4 |ssw 2.6 |SSE 4.0 |SSW 4.1 |Wsw 4.1 | P H2 §13.2 [10.0 | 5.7 | 2.9
14§28.1 [19.0 [22.5 |NNE 2.1 |ESE 3.0 |ESE 3.6 |\ 8.2 H3 f11.2 [30.0 | 6.2 | 4.6
15§25.2 [18.6 [20.8 |E 3.6 [E 4.0 |s 5.2 |sw 4.1 % H3 | 6.4 [30.0 | 9.3 | 5.0
16§27.2 [18.8 [22.3 |E 2.1 |ESE 3.0 [S 3.6 |SSW 3.1 I I H3 f11.3 [20.0 | 8.8 | 3.8
17§25.9 [19.4 [21.8 [E 1.0 |SE 3.0 |ESE 3.6 |SSE 1.0 2 — W 3l 7280|7035
18§26.2 [19.4 [21.7 |ENE 2.6 |SSE 3.0 s 4.6 |Wsw 4.1 W H5 | 2.6 [10.0 | 6.5 | 4.7
19§26.3 [20.1 [22.6 |sw 4.6 |sw 7.0 |SSW 6.7 |SSW 6.2 R H5 | 2.4 [15.0 | 7.0 | 3.4
20023.3 |21.4 |22.0 |[sw 4.1 |Ssw 4.0 |s 5.7 |sw 4.1 A F2 —115.0 | 6.7 | 3.8
21]25.4 |21.2 [22.4 |E 1.5 |ESE 2.0 |SSW 2.6 |SE 3.1 55 ] F2 —|15.0 1 5.9 ] 4.5
22023.7 120.8 |21.0 [N 2.6 N 2.0 |E 2.1 NE 7.2 | BHKH KWN—FFE L2 —120.0 | 3.3 | 1.7
23]23.7 |18.4 |20.6 [N 3.6 |ENE 3.0 [E 2.6 |NE 10.8 | & —HKF[E ElFx [ F3 ] 0.2 3.0 84] 3.9
24]25.9 |18.7 |22.1 |sSsw 5.7 [sW 6.0 [SSW 5.2 |W 7.2 | HEM LN | BRI H4 | 9.3 [40.0 | 6.7 | 2.0
25025.7 120.8 [22.0 [ENE 2.6 |NE 2.0 [E 3.1 |SE 2.1 | & 2.5 115.0 | 5.5 | 2.1
26]19.2 |16.1 [17.0 |NNE 4.1 N 5.0 N 3.6 |SSE 5.1 | & —l10.0 | 1.2 ] 1.6
27]25.2 |17.2 |20.8 [E 2.1 |SSE 3.0 |SSE 5.2 |SSE 4.1 | & 6.6 |15.0 | 3.7 | 3.4
28]25.3 |19.4 |22.2 [s 1.0 |SE 2.0 |s 3.1 |SE 3.1 | & 0.3 |15.0 | 8.0 5.7
29]22.5 119.9 |20.6 [S 3.1 [E 2.0 |s 1.0 |s 7.2 | W —|10.0 | 4.4 ] 2.2
30024.7 |19.0 [20.8 |NNE 3.6 |NNE 3.0 |E 2.6 |NE 12.9 | 2 2.4 50| 72123
ES X1 B [ u

F# R JE R ES B ESo IS E

°C m,/ s A K IH] BN I EC
nlEe [ RBE] 75| 09 T 2 T 50 1000m]| (06~18h) | (18~306h) | | [ k[ 09F[ 211
1125.6 [17.5 [21.0 |E 2.6 |E 2.0 |SSE 3.6 |WNW 5.1 | & R T2 3l 5580 7.5] 49
2§27.6 [19.5 [23.0 |SSE 1.5 |s 4.0 |s 3.6 |sw 3.1 & 2 5 | 9.5 [10.0 | 7.3 | 5.5
3026.7 [21.0 [23.4 [ssw 6.7 |sw 7.0 |SSW 6.7 |sw 11.8 w.omemo | F2) 2.3 9.0]68] 6.6
4§29.6 [22.0 [25.5 |Ssw 4.6 |SSW 6.0 |SSW 5.7 |SSW  13.9 | = wmew. wews H4 | 7.9 [30.0 | 5.4 | 1.8
5]30.6 [23.1 ]26.1 |s 3.11s 3.0 |s 2.6 s 1.0 i) B, BEfES| H4) 7.2 1100 5.2 136
6§30.5 [22.5 [25.6 |SSE 2.1 |SSE 3.0 [s 4.6 [x i & IR L IF AN He ] 4.8 4.0 4.3 ] 5.9
7025.9 [22.8 [24.1 [E 1.0 |SE 3.0 |sw 3.1 |Wsw 6.2 | Nt —HiE | & H5 —]9.0] 49|52
8f26.1 [22.1 |23.3 |s 2.1 |Ssw 2.0 |s 5.7 1s 2.1 | 28 2R 5 | 0.2 [10.0 | 6.7 | 6.3
9)26.6 [21.7 |23.8 |s 2.1 s 2.0 |SE 3.1 |SSE 2.1 | & & 05 | 2.4 [15.0 | 8.8 | 5.3
10§28.1 [20.9 [24.1 |sw 1.0 |s 4.0 |wsw 3.1 |sw 2.1 | & £ 5 | 4.4 [15.0 | 7.4 | 4.6
11§29.1 [22.8 |25.5 |SSW 3.1 [sw 4.0 |sw 5.7 |SSW 3.1 | =i TR H4 | 5.6 [15.0 | 6.8 | 3.3
12§33.3 [23.0 |27.1 |SE 1.5 |s 2.0 |Ssw 3.1 |wNw 9.8 | wwprm, wmas | B H4 | 9.4 [15.0 | 3.1 | 1.4
13]32.2 [24.6 |27.0 |ESE 2.1 [E 4.0 |s 3.1 |ESE 3.1 — 2 B 5 | 9.0 [10.0 | 6.5 | 2.1
1432.0 [24.7 |27.5 |sw 1.5 |ESE 4.0 |SSW 3.6 |w 6.2 2 — i F1 | 45100 | 2.5 1.9
15030.5 [24.0 [27.1 |NNE 1.5 |E 4.0 |ESE 2.6 |ENE 2.1 BN [ M3 ]13916.0] 6.1 3.1
16§31.3 [23.9 |26.7 |ESE 1.5 [sw 5.0 |SSW 5.7 |Wsw 5.1 2 — e H4 6.6 | 7.0 3.6 | 4.0
17031.7 [24.9 |27.7 INE 1.5 |SSE 3.0 |s 5.2 [Nw 2.1 | AR W14 = H4 ] 7.3)180]52] 42
18]31.1 [26.5 [28.2 |sw 3.6 |SSW 4.0 |s 3.1 |w 3.1 | 28N R I L2 | 1.2 1200 55| 3.4
19§32.0 [25.9 [28.7 |ENE 2.1 [E 4.0 [E 4.6 |NNE 6.2 | &R | 2R F2 f10.4 [20.0 | 7.5 | 2.7
20031.7 [23.8 127.0 |E 2.6 [ENE 3.0 |S 3.6 [x B i % & oo H3 } 8.3 [10.0]32] 30
21]31.2 |24.0 [26.5 |ESE 3.1 |SE 4.0 |sw 4.6 |sw 5.1 | A i — A H3 | 5.9 [10.0 | 5.5 | 5.6
22032.4 |24.9 |28.1 [S 4.1 |SSE 5.0 |s 5.7 |sw 5.1 | W i — 2 H5 §12.3 [10.0 | 7.2 | 5.4
2331.9 |26.1 |28.3 |s 5.2 |s 5.0 |s 6.2 |sw 6.2 | BE—HFE 14 A m5 ] 9.7 [15.0 | 6.8 | 5.1
24]33.7 126.6 |29.0 |s 3.1 s 3.0 [s 6.2 [WNW 2.1 | 2% | & H5 | 9.1 [15.0 | 6.6 | 5.4
25033.9 |26.5 |29.5 [sw 3.6 |sw 4.0 |s 5.7 |w 6 ] i 2 [ H5 f11.3 [15.0 | 6.9 | 1.8
26]31.2 |25.4 [27.9 |E 2.1 |ESE 4.0 |E 4.1 N\ 3] mrgerm, mato | F2 1 6.9 7.0 4.8] 2.9
27033.7 |25.4 [27.9 [ENE 2.1 |SE 2.0 |sw 2.1 |sw 2] s, B | R G F2] 5560/ 3.6](-05
28]32.5 |25.0 |28.5 [E 2.6 |SSW 3.0 |wsw 3.1 [wsw 3] 2 — =53 F2 | 3.0 100 | 49| 1.6
29133.9 |23.3 |27.4 [S 2.1 |SSE 3.0 |Ssw 1O |WNW 5 1 | swsenm wom aews | wusem s mens | HA | 6.4 [165.0 | 6.6 | 5.5
30030.7 |23.4 [26.3 INE 1.5 |ESE 3.0 |E 3.1 [INNE 2] i 2 2 =i H3 | 6.3 [15.0 | 6.6 | 4.0
k31 EION S PEN S RO |9 3R 3707|SE RS LA bR £ S50 RN OO RO A
W) RIR, R - R, KRR, BRE ORI, SR REE 0BT — 2 2R T
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SERE204E 8 A
ES Xl H [ %
F# AR’ 1 R ES A B S E
°C m/ s A K IH] N I EC
nlEe [ RBE] 75| 09 T 2 T 50 1000m]| (06~18h) | (18~306h) | L | [ km[ 09F[ 211
1131.1 [24.2 |26.7 |ESE 1.5 |SSE 3.0 |sw 4.1 |wsw 21| =% NG 5% Rr| 050 4.1 1100 | 5.1 5.5
2032.3 [25.2 [27.9 |ssw 2.6 |sw 5.0 |s 5.2 |sw 5.1 % % 2 H4 | 5.8 [10.0 | 6.4 | 4.9
3133.0 [26.5 [29.1 [ssw 4.6 |SSW 5.0 [S 7.2 |ssw 8.2 it F1 f11.0 [15.0 | 6.5 | 4.1
4)34.0 [27.1 |29.6 |s 2.6 |s 2.0 |s 4.6 |W 2.1 L F2 f10.0 [15.0 | 7.1 | 4.7
5031.5 [25.1 [27.8 [N 2.6 |ESE 1.0 |ssw 0.5 |s 5.1 i F2l07]80]39]24
6§33.5 [25.1 [28.9 |SE 2.6 |SSE 2.0 |SSE 3.1 |SSE 2.1 Bt H3 f11.3 [25.0 | 5.5 | 5.1
7834.6 [26.2 [29.4 |s 2.6 |sw 3.0 S 4.1 |sw 2.1 w2 | n3 ) 8.8 130.0f 7.0 3.4
8)34.5 [26.5 |29.5 N 1.5 |ESE 3.0 |sw 5.2 |w 1.0 H3 §10.8 [20.0 | 6.4 | 3.0
9133.4 [26.0 [28.4 |ENE 1.0 |E 4.0 |ESE 4.6 |ENE 2.1 H3 | 6.5 [10.0 | 5.8 | 3.0
10§30. 4 [24.8 [26.8 |E 1.5 |E 3.0 |ESE 2.6 |wsw 4.1 H5 | 2.4 [30.0 | 6.8 | 4.7
1132.7 [23.5 [27.8 [N 2.6 [E 3.0 |SE 2.6 |sw 1.0 5 | 9.2 [15.0 | 6.1 | 6.3
12§31.9 [25.9 [28.2 |ESE 1.5 |SSE 3.0 s 4.1 |SE 3.1 1% = 5 | 6.2 [15.0 | 7.4 | 5.9
13]32.5 [26.4 [28.7 [sw 4.1 |SSW 3.0 |Ssw 4.6 |sw 4.1 | HE% | M 5 | 4.6 [20.0 | 8.8 ] 6.1
14)33.4 [26.4 |29.5 |SW 4.6 [sW 5.0 [SSW 5.7 |Wsw 4.1 | WE%RE HELE H4 | 8.0 [40.0 | 6.5 | 3.2
15035.0 127.2 [30.1 SSW 2.1 |SSE 6.0 SSW 5.7 |WSW 3.1 LS F1 }12.6 [30.0 ] 5.7 ] 3.5
16]33.9 [26.4 [29.3 |SE 2.1 |ESE 4.0 |sW 5.2 [SSw 1.0 2 — e F2 | 7.3 1200 7.6 3.3
17§26.5 [21.3 [23.1 [E 4.1 |ENE 4.0 |ENE 3.1 INE 5.1 F2 —| 50 29] 3.4
18§29.4 [21.5 [25.2 |NE 2.1 |E 3.0 |ESE 3.6 |SE 1.0 s | 7.7 [15.0 | 7.6 | 5.4
19134.5 [25.0 |28.3 [ssw 5.7 |sw 7.0 |wsw 5.2 |sw 8.7 F2 ) 79150 6.6][ 1.3
20032.2 |24.1 |27.7 |E 1.0 |SE 3.0 |SE 2.1 |w 4.1 L1 f10.2 [15.0 | 5.1 | 0.6
21]30.7 |21.4 [25.5 [ENE 3.1 |ESE 3.0 [S 2.1 |NNE 1.0 F2l 721150741020
22]25.4 |20.6 |22.5 |NE 2.6 |E 5.0 |ENE 3.1 |NNE 5.1 H3 | 2.7 [25.0 | 8.5 | 4.3
23]22.9 119.4 |21.0 [N 1.5 N 2.0 [N 2.6 |SSE 6.2 F3 —|15.0 | 6.1 | 3.5
24]24.2 119.3 |21.4 [N 2.6 N 3.0 N 2.6 |SSE 10.8 L3 —l10.0 | 5.0 | 5.7
25023.1 |21.3 |22.2 |NNw 3.1 IN 3.0 IN 2.6 |E 4.1 L3 —| 80| 49| 45
26]22.7 120.2 [21.7 |N 3.6 N 5.0 N 3.1 |E 9.8 L3 10.0 | 3.9 ] 2.9
27]28.5 |20.1 |24.1 [N 3.1 [E 4.0 [E 2.1 |SSE 3.1 H5 | 5.4 [20.0 | 6.5 ] 3.1
28]27.7 |22.5 |24.9 N 3.6 N 2.0 |NNE 1.5 |s 8.2 F2 ] 0.3 150 5.1 5.7
29130.0 |23.3 [25.9 [NNE 1.5 |NNE 2.0 |ESE 3.1 |ESE 3.1 | Ehp R F2 | 5.0 [10.0 | 4.6 | 5.1
30029.1 |22.7 |24.4 |N 3.6 |NNE 1.0 IN 2.1 B, A F2 | 2.2 1200 5.5 5.8
B3 B0V ERA EE 36 INNE "0 SE 5UTTIN TR RS B BN N A
— FRR204E 9 A
ES ESl B 5 3
# ) 1 [T X e EOl I E
°C m/ s A &IH EN S JE C
=0 EETE EE 0N B 0 9f 1 2 T 50F T00O0m (06~18h) (18~3%o06h) | 7 | ™ km|[ O9WF[ 21MF
1§30.8 [23.9 [26.9 [ESE 1.5 [Ssw 2.0 |SSw 2.6 |S 6.2 | il = W5 | 5.7 [15.0 [ 6.3 | 5.0
2)32.1 [24.8 |27.7 |SSE 1.5 |SSE 4.0 |s 4.6 |sw 4.1 | B2 G R & 2% H5 | 8.5 [20.0 | 6.4 | 5.7
3131.9 [25.7 [28.0 [ssw 3.1 |SSE 5.0 |s 5.2 |Ssw 7.2 | B i F1 §10.9 [30.0 | 6.6 | 2.8
4)29.8 [24.4 |26.7 |E 2.1 [E 4.0 [E 3.6 |ENE 6.2 PN H3 | 3.1 [15.0 | 7.4 | 3.4
5029.6 [23.8 [26.2 [E 2.1 |ESE 4.0 |E 2.6 |wNw 2.1 — Ry 5 | 6.4 [10.0 | 5.9 | 2.4
6]30.8 [24.5 |26.6 |E 1.0 |ESE 3.0 |ESE 2.1 |wsw 2.1 RN H5 | 6.4 | 3.0 43| 3.3
70130.9 [22.3 [26.2 [N 2.6 |ESE 3.0 |ESE 2.6 |NNE 2.1 e, wews | H3 | 5.9 [15.0 | 6.6 | 5.0
8)30.2 [23.0 |26.4 |N 3.1 [E 4.0 |SE 2.6 |NE 7.2 2 u3 ] 8.2 [30.0 | 7.2 | 1.8
9§29.3 [22.7 |25.3 N 4.6 |E 4.0 |E 3.6 [N 5.1 ep H3 §11.3 [30.0 | 6.1 | 2.9
10§28.7 [20.3 [24.1 [N 3.1 [E 5.0 [E 4.1 INNE 4.1 & H5 | 8.51]15.0 | 8.2 | 3.5
11f26.1 [20.1 [23.0 N 6.2 N 4.0 IN 5.2 |ENE 5.1 %R & B L3] 22150 7.6]58
12§31.1 [21.8 [25.8 [sw 1.5 |SSE 4.0 s 3.6 |W 6.2 & H2 f11.1 [20.0 | 6.0 | 1.9
13§30.2 [22.8 |26.1 |N 1.5 |ESE 3.0 [E 3.1 |NNE 4.1 | W & 5 | 8.0 80| 45| 3.0
1428.8 [23.3 [25.3 [N 2.6 |ESE 3.0 |ESE 2.6 |NNW 3.1 | wm—nsmansens | B RFRN | H3 | 4.8 7.0 [ 4.8 ] 3.2
15126.5 122.6 [24.2 |E 3.6 |E 2.0 s 2.1 [SE 2.1 | &l Mk H5 1 09150 69]55
16§24.4 [20.1 [22.0 |NNW 3.1 N 2.0 |ESE 2.6 |SSW 2.1 | PRSI 2 | I —Rra F3 | 1.9]16.0| 47| 4.6
17§28.7 [21.1 |24.4 |E 2.6 |E 4.0 |E 3.1 |NNE 3.1 | B —HE 2% [ H3 ] 87] 4050133
18§23.9 [22.0 [23.1 |NNE 1.5 |NE 1.0 |E 1.5 |SE 3.1 |’ W F3 —|80]59]3.s8
19§25.2 [21.9 [23.1 N 1.5 |SSE 1.0 |E 1.5 |wsw 3.1 | ks 2 Kt ., mas | L2 —| 5.0 3.4 4.4
20028.0 |21.5 |24.1 |NNW 2.6 |NNE 2.0 [E 2.6 INE 8.7 | EREx I B — i H3 | 3.7 [40.0 | 5.7 | 2.9
21]25.4 |21.4 [22.6 [S 2.6 |SSE 1.0 |NE 1.0 |S 8.2 | %KM K. Eapko| F3 ) 1.4 |16.0 | 4.7 | 4.2
2222.1 119.3 [20.5 [N 3.1 N 5.0 IN 3.6 |NE 9.8 | EWFx [N i 2o06]60]|32]|12
23127.8 |18.9 [23.3 [wsw 0.5 |Ssw 5.0 |sw 2.6 |Wsw 5.1 | WEmEx B H4 | 5.3 [20.0 | 4.4 | 1.5
24127.7 |22.1 [24.2 [NNE 4.6 [E 3.0 |SE 3.1 |SSE 3.1 | W %0 | H3 ] 8.2]1]30.0 | 8.7 ] 0.8
25028.6 120.9 [24.7 IN 1.0 |sw 4.0 |sw 5.7 |ssw 9.8 | Wik x 2 R i L1 | 4.8 [20.0] 5.2]-0.1
26]28.7 120.8 [26.0 [SSW 7.2 [wsw 9.0 [sW 6.7 |SW 10.8 | = EfERF Al | F2 1 0.7 [165.0 | 4.7 | 4.9
27022.9 117.8 119.9 [N 4.1 |ENE 2.0 |SE 3.1 |\w 8.2 | & —HyHE 2 F3 | 1.6 [30.0 | 83| 4.8
28]19.5 |16.6 |18.1 [N 3.1 N 4.0 |NNE 2.1 |SE 7.2 | & EE R ] F3 —130.0 | 6.5 | 4.9
29]17.2 |15.0 |16.0 [N 5.2 N 4.0 IN 3.1 |E 3.1 | W 5§} F3 —|50]59] 48
30017.7 |15.5 |16.7 [N 4.1 IN 4.0 IN 2.6 |E 6.2 | W 55} F3 —| 30] 40] 3.9
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SER204E 1 0 H

ES Xl H [ u
F# R O TR A 3 e ESo ISt i
°C m,/ s &[] N P! EC
pl e B ] £ 0om T 2 T 50 TO0O0nm (18~o6h) [ 7 | km[ 09F[ 211
1§21.7 [16.9 [18.7 IN 3.6 IN .0 |NNE 3.1 |ESE 2.1 i 3fo0.4(15.0]50]21
2§22.4 [16.9 [19.4 |ENE 2.1 |E 4.0 |E 4.1 |\w 3.1 i 1% 2 H3 f10.8 [25.0 | 8.3 | 5.3
3023.1 [17.5 [19.7 [NNE 1.5 |E 2.0 |SE 2.6 |SSE 1.0 2 s | H5 ] 6.8 [20.0 | 8.3 | 2.3
4)25.0 [16.4 |20.2 N 2.1 |SE 2.0 |s 3.1 |wsw 4.1 ME—rEE | is | 8.2 [25.0 | 8.0 ] 2.4
5024.7 [17.2 [20.4 [N 1.5 |E 3.0 |ESE 1.0 |SSE 3.1 : KR 3 | 3.9 80| 43| 5.7
6§19.7 [15.9 [17.9 N 5.2 IN 5.0 IN 4.6 [SE 8.7 | k= FIRF % & L3 —| 30| L3]0.2
7126.0 [17.8 |21.1 [ESE 1.5 |E 2.0 [E 1.5 |NE 6.2 | &M | RW—Mp2 | H3 | 4.1 [10.0 | 3.4 | 4.4
8§20.1 [17.5 [18.7 |NNE 3.1 |NNE 4.0 N 3.6 |NE 10.8 | 284 [ %L | F3 —125.0 1 5.9 5.1
9f25.0 [17.5 |20.7 |N 4.1 IN 3.0 [E 3.1 |ENE 5.1 | W—HpE I % 2 H3 | 7.1 [15.0 | 7.4 | 3.6
10§25.1 [17.7 20.9 N 1.5 |E 3.0 |SSE 2.1 |sw 3.1 | weie o 2 e Sy k) F3 ] 6.4 |15.0 | 6.1 | 5.3
11§23.5 [17.8 [20.2 |NNW 0.5 |NE 1.0 |S 1.5 |NW 5.1 | Wfex= F3l 12180 41| 1.4
12§20.7 [16.1 [18.3 |NNE 3.6 |ESE 3.0 |SSE 1.5 |\ Lo| 2 H1 | 4.0 [40.0 | 8.0 | 2.5
13]22.8 [15.9 [19.3 [N 3.6 |NE 2.0 [E 2.6 |SE 2.1 | W—HrE H2 | 7.4 [25.0 | 5.5 | 0.9
14f20.4 [17.1 |18.3 N 2.6 N 3.0 N 1.5 |s 5.1 | &4 L3 ] 0.5 [15.0 | 5.4 | 2.9
15022.4 [16.4 [19.4 [N 2.1 [E 4,0 |ESE 2.1 |NNW 4.1 | AR 2 G H3 | 3.0 [15.0 | 4.4 | 3.4
16§23.6 [15.6 [19.4 |N 4.6 |E 4.0 |E 4.1 |NNE 7.2 | B H2 §10.5 [30.0 | 4.6 | 1.0
17§23.5 [14.5 [19.1 [N 3.6 [E 5.0 [E 2.6 [E 5.1 | BEthE H3 | 8.2 [15.0 | 4.8 | 4.1
18)23.4 [16.1 |19.4 N 5.2 |NNE 3.0 [NE 2.6 [NE 7.2 | R H3 | 4.6 [10.0 | 6.1 | 5.2
19§22.4 [15.7 [19.3 [N 4.6 |NNE 4.0 INE 3.6 |ENE  11.8 | %S 5 | 4.2 [15.0 | 8.9 | 5.4
20024.9 115.9 [19.9 N 6.7 IN 3.0 [E 4.6 INE 8.7 | HEthIE~ A HI § 8.1 130.0 | 5.9 | 3.9
21]22.8 |16.7 [19.5 |N 1.5 [E 3.0 |ESE 3.1 |NNE 7.2 | P H3 | 9.6 [10.0 | 5.4 | 1.4
22023.0 |15.4 [19.3 [N 2.6 |E 2.0 |SE 1.5 |s 51| & W5 | 4.4 5.0 42| 4.4
24.4 [17.0 |19.4 N 3.6 |ENE 2.0 |ESE 3.1 |SE 9.8 | WL sl 2.1 70|6.1]) 4.2
23.3 [19.0 [20.8 |s 3.6 |s 7.0 |ssw 3.6 |s 18.0 | KWy L2 —| 40 49| 41
22.3 [18.5 [20.1 N 2.1 INE 2.0 [E 2.6 |SE 3.1 | % F3 20.0 | 4.0 | 5.0
21.1 [17.7 [18.9 N 2.1 |NNE 1.0 |sw 5.2 |sw 11.8 | Zrx [F F1 —l10.0 ] 1.1 ] 1.9
22.0 [15.7 |18.1 |N 3.1 |ESE 2.0 |SE 4.1 IN 3.1 | W H1 | 8.3 [20.0 | 6.6 | 3.6
20.3 [12.9 [16.9 N 2.1 |SE 3.0 |ESE 3.1 |\ 7.2 | PR W2 —mrRE | H1 f10.2 [30.0 | 4.9 ] 3.0
21.1 |13.4 |16.7 IN 1.0 |s 4.0 [E 1.5 |WNw 8.7 | MRz S F1 | 55 (250 3.9 3.3
17.5 [12.9 |14.9 INE 1.5 |E 3.0 |ESE 2.1 |SSE 5.1 | B —HpE H2 | 6.5 [30.0 | 7.2 | 0.6
P87 T 14T9TIN 376 TNNE 170 [WSi 5SS [ S0 I BN N O
— SERR204E 1 1 H
B Xl H i £
# ) J& A B X = EOl I E
°C m/ s EEY R[#] By | R JE C
=0 EETE EE 0N B 0 9y 1 2 15 0y T00O0m (06~18h) (18~Fo6h) | # | [ km[ OOWF] 21MF
1f21.4 [11.4 [16.5 N 5.2 |NNW 7.0 [N 4.1 |\w 12.9 W% i | N1 ] 9.8 |40.0 | 4.1 ] 0.7
2§19.0 [10.8 |14.7 |N 2.6 |NNE 2.0 |s 2.6 |sw 8.7 & H4 | 2.8 [30.0 | 1.2 [-1.9
3§17.1 |13.5 |15.4 |N 1.5 |ESE 1.0 |ssw 1.0 |w 3.1 Tl — W F3 —1 9.0 ]-0.9 |-3.6
4)20.6 [12.8 |15.9 |N 3.6 [N 4.0 [E 2.6 |Nw 8.2 i i 2 2 HI | 4.7 [20.0 | 3.7 2.6
5)17.1 111.8 [14.2 N 2.6 I\WE 2.0 [E 2.6 |SSW 6.2 %o EE | R 2 | 191200 401 0.1
6j21.7 [10.7 |16.8 |N 1.5 [SSE 3.0 |SSW 5.2°1S 8.2 | wix ES T H5 | 6.3 [10.0 |-5.4 |-2.8
7020.9 [12.9 [17.2 [NNw 1.5 |NE 1.0 |s 3.6 |w 6.2 | RN & 3| 44]80][-08]38
8j15.2 [11.2 |13.3 |N 4.6 |NNE 1.0 N 2.1 |wNW 11,8 | FifEx 2 = F3 —l10.0 | 5.6 | 3.7
9f13.0 | 9.4 [11.3 |NNE 2.1 |NNE 2.0 N 4.6 |SSE 5.1 | Wkrx 2 i — F3 —130.0 | 5.1 ] 5.9
10§14.5 | 8.9 [11.6 [N 3.1 IN 4,0 |NNE 2.6 |NNE 9.8 | & & H3 | 0.3 [15.0 | 5.2 | 4.2
11f13.0 | 9.9 [11.5 N 5.2 IN 4.0 |NNE 3.6 |ENE 8.2 | & = H3 | 0.1 [30.0 | 6.4 | 5.2
12§13.3 [10.7 [12.1 [N 6.7 IN 6.0 [N 6.7 |E 10.8 | &M B H3 ] 0.1[15.0] 6.5 2.0
13§19.2 [12.2 |14.9 N 4.1 INE 2.0 |ENE 3.6 |NE 7.2 | PR i H3 | 9.6 [40.0 | 4.4 | 2.2
14§18.7 [10.2 [14.8 [N 3.1 N 1.0 |E 1.5 |SE 5.1 | BERFx & & H3 | 4.1 [20.0 | 2.6 | 4.8
15018.8 [14.0 |16.1 |N 3L INNE 1O [ENE 1.0 |S 2.1 | E% N | B H31.0.7 115.0 [ 5.5 | 4.2
16]15.6 [13.9 [14.9 [N 2.1 N 2.0 [N 1.5 |wsw 7.2 | HEx 2 T —130]37] 3.6
17§19.1 [12.2 |15.5 |N 2.6 N 2.0 |ESE 1.5 |NE 4.1 | WEtL — R B HI | 6.9 [20.0 | 2.4 | 4.0
18]19.6 [12.3 |15.4 |NNE 1.5 |ESE 2.0 |Wsw 6.7 |WNW 2.1 | HEMLW | HEAR H ] 67 /[15.0] 48] 6.6
19§14.6 | 6.7 [10.5 |sw 2.1 |sw 7.0 |wsw 7.7 |w 11.8 | i et H1 | 9.7 [40.0 | 7.5 | 5.6
20012.9 | 5.5 | 8.8 |N 2.6 |SE 4,0 |Ssw 3.6 |WNW 8.7 | i e Hi | 9.6 [50.0 | 8.8 | 1.6
21]15.5 | 5.3 [10.6 |Wsw 5.2 |sw 6.0 |WSW 6.2 |WSW 7.2 | PR Pl HI | 9.1 [40.0 | 3.8 ] 4.1
22014.4 | 7.4 |10.8 [N 4.6 |NNE 2.0 [E 2.6 |WNW 17.0 | I R H2 | 9.4 [30.0 | 84| 3.2
23]17.6 | 7.5 |12.2 |Wsw 0.5 [s 3.0 [NE 1.5 |WNw 9.8 | MEEN i H4 | 7.8 [30.0 |-1.4 | 2.7
24]12.6 | 7.6 | 9.4 [N 4.1 |NNE 2.0 [N 4.6 [NE 2.1 | ERpx %N Wk 2 | 2] 12 (30.0] 4253
25012.6 | 6.4 | 9.8 |N 4.1 |ESE 3.0 |ESE 2.6 |NNW 8.2 | Wik~ 2 2 % il H1 | 5.3 [40.0 | 4.4 | 7.3
26]14.4 | 8.3 [11.1 |N 5.2 INE 2.0 [E 3.6 |NNE 5.1 | W i — A H3 | 9.1 [20.0 | 6.4 | 2.9
27011.0 | 7.4 | 8.4 N 3.1 |NNW 3.0 |NNE 2.1 |SSE 3.1 | 24/ i — H5 —l10.0 | 40 1.9
28]14.5 | 7.6 [10.7 [N 4.1 |WNW 2.0 [N 2.6 |ESE 7.2 | ERFx G| P 2] 29(15.0] 23] 038
29]16.4 | 8.1 |12.7 |[SE 2.6 |SE 1.0 |SE 2.1 |wsw 6.2 | W et L1 | 7.7 2.0/ 21|42
30015.9 | 8.0 |12.3 |N 1.5 |ENE 2.0 |NNE 1.5 |WNW 15,9 | P LB H1 | 9.4 |50.0 | 6.4 | 5.2
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SER204E 1 2 H

ES X1 B [ u
F# g I B A o E BN g x| R i
°C m,/ s A &[] Ry 2 £ °C
nl B[R] 75| 09 T 2 T 50 1000m]| (06~18h) | (18~306h) | L | [ km[ 09F[ 211
Niz8] 7208 NE %1 |E 2.0 |E 2.1 |5 T.2 | R hr | N T T2 | 6.4 |40.0 | 5.3 | 3.6
2f11.0 | 6.6 | 9.0 N 4.1 N 4.0 N 3.6 |SSE 6.2 | 2B N i — L3 0.0 100 1.2 3.5
17.7 | 7.2 [11.8 [N 3.6 |NNE 1.0 |ESE 2.1 |NNE 6.2 | i Jep H2 | 9.4 [40.0 | 1.1 | 3.9
4)15.9 | 7.5 |11.8 |NNE 1.5 |E 2.0 [SSE 2.6 [NE 2.1 | K4 iy I H2 | 9.0 [20.0 | 0.5 | 1.4
5019.8 | 9.8 |14.4 [ssw 5.2 |s 8.0 |s 10.8 |SSW  19.0 | maneem, waies | FERF 2 2 F2 | 1.7 1200 2.1 4.0
6j13.0 | 7.2 |10.1 W 4.6 |SW 5.0 |sW 5.7 |w 5.1 | i i —FF H1 | 9.3 [40.0 | 5.2 | 7.2
71 9.8 35| 71| 4.6 |E 4.0 [E 4.1 |Nw 5.1 | g I % 2 H2 | 9.6 [40.0 | 7.8 | 1.3
8j10.5 | 4.2 | 7.7 N 3.6 |NNE 2.0 |E 1.5 |s 8.2 | Bmyrut—rrm| W H5 | 1.8 [20.0 | 0.9 |-1.4
9i12.2 | 5.8 | 8.6 |N 3.1 N 2.0 |NNW 2.6 [SSW  14.9 | &= WFREANS| KiRFx2& | H5 ] 0.6 |15.0 [-5.3 |-0.5
10§18.4 [10.2 |13.6 |N 1.5 IN 3.0 |SSE 2.6 |NNW 8.2 | Wiksx 2 2| H2 | 5.1 [25.0 | 2.3 | 0.3
11§19.1 [10.0 |14.4 [N 2.1 |SSW 4.0 |sw 6.7 |SSW  12.9 | MifE—REEE | DA H4 | 7.7 [15.0 | 0.8 |-3.2
12§17.0 [10.0 |13.1 |N 5.2 N 4.0 |E 2.6 |ENE 2.1 | ik M 142 H1 | 8.9 [30.0 | 1.3 | 4.1
13§14.5 | 9.3 [11.4 [N 3.6 |NE 2.0 |NNE 2.1 [SE 2.1 | EWfx SR L | H3 ] 4.6 [165.0 | 6.4 | 5.7
14f11.0 | 5.0 | 7.5 |NNE 5.2 IN 6.0 N 2.6 |NE 13.9 | HtEHERE % &| thEg L3jos8|8o]6.2]28
15010.3 | 3.5 | 6.9 |N 2.6 N 2.0 [E 2.1 INNW 3.1 | kLR Hi J 8.8 130.0) 4.1] 04
1612.9 | 3.3 | 8.4 N 3.1 |N 3.0 |ENE 1.5 |ENE 1O | W% —WeE | &renf | H2 | 7.0 130.0 | 0.4 | 4.6
17 9.1 7.4 | 8.4 |N 3.6 N 4.0 IN 4.1 |SE 6.2 | I FRIF % ZEE L3 | 0.0 | 7.0 | 1.4 | 3.1
18§15.7 | 7.2 |11.3 N 0.5 |E 2.0 |E 1.5 |WNw 5.1 | B it H1 | 8.5 [30.0 [-0.4 | 0.6
19§13.0 | 7.9 | 9.8 |NNE 4.1 |NNE 3.0 [E 3.6 |WNW 6.2 | W Mg a2 | H2 | 9.2 [40.0 | 4.7 ] 0.3
20015.7 | 6.0 |10.4 |N 3.1 |E 1.0 |SE 3.1 |SSW  13.9 | B R [l H4 | 6.8 [20.0 |-1.4 |-4.1
21]19.6 | 6.3 [14.4 |N 2.1 |sw 7.0 |Sw 8.8 |sw 19.0 | W i L1 | 70100 [-31] 5.5
22020.3 | 4.6 |13.7 [sw 7.7 |SW 7.0 |NNE 3.1 [sw 18.0 | &5 %2 L1 ] 2.6 [30.0 | 1.8 | 5.4
231 9.7 | 4.7 ] 6.9 [NNE 2.1 [E 2.0 |SE 1.5 N 1.0 | %K Jep H1 | 6.0 [30.0 | 5.0 | 0.4
241 9.6 | 4.0 ] 6.9 [N 3.1 N 3.0 [E 3.1 |SE 5.1 | ZmFxHE 2% —mE | H2 ] 1.0 |30.0 | 0.8 | 2.3
25016.6 | 4.9 |10.1 [S 0.5 |sw 5.0 [sw 8.8 |wsw 5.1 | W e F1 | 9.0 [25.0 [-1.4 | 0.9
26] 9.6 | 2.3 | 5.3 |N 5.7 IN 5.0 N 5.7 [WNW 149 | ¥ i H1 | 9.3 130.0 | 9.4 | 6.9
27010.0 | 0.3 | 5.2 [N 1.5 |ENE 1.0 |ESE 2.6 |WNW  20.1 | g b H1 | 9.5 [35.0 | 81| 3.9
28]11.5 | 2.1 | 6.9 [SSE 1.0 |ESE 2.0 |E 1.5 |WNW  18.0 | fem S H1 | 9.3 [40.0 | 4.8 | 4.9
29]13.4 | 3.8 | 8.5 |N 3.1 N 1.0 |s 3.1 |WNW o 13.9 | I i H2 | 7.6 [40.0 | 1.5 | 1.6
30j14.2 ] 4.8 1 9.2 [N 2.6 |E 2.0 |SE 2.6 |WNW 9.8 | i S L3 8.7 (2.0 [-30] 07
STT0.67) 74T 66NN 31NN AN [DND P2 LN C R O TS e 00 BECAEE RIONON BEAEN A
ERE214E 1 A
ES X1 B ) u
F# g 1. B A o E B gl x| R i
°C m,/ s A &[] Ry 2 £ °C
nlEe [ RBR] 75| 09 T 2 T 50 1000m]| (06~18h) | (18~306h) | L | [ k[ 09F[ 211
1f10.6 | 2.4 ] 6.1 |[\Nw 1.5 N 1.0 |ESE 2.6 |[WNW  17.0 | P RS HI [ 9.0 [35.0 | 6.5 | 4.7
2d12.5 [ 2.3 | 6.9 |w 1.5 N 3.0 |w 1.5 |WNW  10.8 | & S H1 | 8.0 |50.0 | 6.6 | 4.3
311.2 1 3.9 | 7.2 N 5.2 [N 5.0 [N 3.6 |Nw 7.2 | PR IR Hj o2 (400 41] 1.1
4l12.0 | 4.0 | 7.4 |N 4.6 N 3.0 |E 3.1 [SE 2.1 | K4 & H1 | 8.2 [30.0 | 5.4 ] 0.9
5011.7 | 5.3 | 8.5 [N 1.0 |ENE 1.0 |ESE 2.6 |sw 3.1 | Itk K i % I Hi | 7.7 [30.0 | 2.6 [-2.9
6l12.3 | 2.8 | 8.7 N 6.7 |NNE 2.0 |ESE 3.6 [NW 9.8 | ML —RpE H1 | 8.2 [40.0 | 3.9 |-3.1
719.1]39]| 70N 3.1 INE 2.0 [E 4.1 |NNW 2.1 | ERFxIE & H3 | 2.8 [20.0 | 3.0 3.5
8j10.1 | 43| 7.2 N 3.1 INE 2.0 |E 3.1 |NNE 2.1 | WErEx 2 | 2%H H3 | 7.3 [20.0 | 3.5 [-0.6
of 7.3 2.7 | 40 N 5.2 [N 6.0 [N 6.2 [E 7.2 | W Wiff 2 2% 130 0.0 9.0 5.0 | 0.4
10§11.5 | 2.8 | 5.9 N 2.1 |\w 4.0 |NNW 5.7 |Nw 9.8 | HE g H1 | 5.2 [30.0 [-0.1 | 4.4
1 sof 1.4 48N 3.6 |ESE 2.0 [E 2.1 |Nw 21,1 | PR T — H oo |35.0]67]11
1211.8 | 1.4 | 5.1 |SSE 1.0 |wsw 6.0 N 4.1 |sw 6.2 | W S L1 | 7.8]25.0]|3.4]| 4.6
13§10.7 | 1.7 | 5.4 |wsw 2.6 |sw 4.0 |sw 4.6 |W 7.2 | W S HI | 9.1 [40.0 | 1.3 | 6.2
14§10.1 | 2.4 | 5.9 |NNE 2.1 |E 2.0 |s 3.6 |s L0 | peng S L1 | 9.3 [40.0 | 3.9 | 4.9
150 8.6 | 2.3 | 4.3 |N 6.7 IN 5.0 [N 3.1 |wNw 2001 | P 5 Hi | 9.5 [40.0 | 7.9 ] 1.1
6 9.1 0.4 | 4.7 N 1.5 |ESE 2.0 |S 2.6 |W 7.2 | P b H4 | 9.6 [30.0 | 2.2 | 4.4
17§11.7 | 2.1 | 6.9 |ESE 2.6 [E 1.0 |ESE 2.1 |WNW 10.8 | i e e H2 | 9.5 [25.0 | 2.7 | 5.8
18] 8.2 | 3.6 | 6.1 |N 4.1 N 4.0 N 2.1 |SSE 6.2 | & —HrHE i 2 2 F3 | 2.3 200 2.7 [-0.2
1915.7 | 4.5 | 9.2 |\NE 2.6 N 3.0 [E 2.1 |WSW  10.8 | W§—HE AT my7s5)80]23]47
200 9.1 | 4.8 7.1 N 3.1 INE 2.0 |ESE 1.5 |w 8.7 | & =3 H3 | 0.0 [30.0 | 1.8 ] 4.1
211 9.4 ] 48] 6.5 |N 4.1 IN 4.0 |ENE 2.1 |SSE 6.2 | mE—WFH | W L3]0.1[15.0] 46| 7.2
221 6.6 | 4.1 | 5.5 [N 4.1 N 5.0 N 4.6 |E 7.2 | W42 i F3loo] 40| 28] 1.4
23)13.6 | 6.5 | 9.7 |N 3.6 |N 4.0 s 2.1 |SE 5.1 | MAE By L3 ] 0.4 [10.0 [-0.2 | 2.9
24110.3 | 6.6 | 6.5 [NNE 5.2 |NNE 4.0 N 4.1 |E 2.1 | iE%E —WFES 0| F2 | 3.6 [25.0 | 6.1 | 7.4
25010.1 | 1.1 | 5.5 |wsw 3.1 |sw 5.0 |sw 3.6 |W 7.2 | P b H4 | 9.8 |35.0 | 3.9 | 6.7
26f11.8 | 1.1 | 6.8 [SE 2.6 [S 2.0 [SE 2.1 |[sw 5.1 | nEMe ~ S W Ha | 7.6 [30.0 | 2.3 ] 5.7
27011.5 | 3.0 | 7.4 |N 2.1 N 3.0 |SE 2.6 |Nw 7.2 | HE-EE | % H1 | 8.0 [20.0| 1.6 | 4.5
28] 9.2 | 4.3 ] 6.8 |N 4.1 N 4.0 |NNE 2.1 |SE 4.1 | BERE—RH| & H3 | 1.4 [20.0 | 46| 2.7
29]11.5 | 6.6 | 8.7 [N 4.6 IN 4.0 |NNE 1.5 |s 51| & & H3 | 0.1 [20.0 | 3.2 | 3.7
30010.6 | 7.8 | 9.3 N 4.1 |NNE 4.0 IN 4.1 |s 9.8 | W K 3foo]l30]|17] 49
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FH2LE 2 )]

ES X1 B [ u
F# U B A o E B g x| R i
°C m,/ s A K IH] N 2 EC
nlEe [ RBR] 75| 09 T 2 T 50 1000m]| (06~18h) | (18~306h) | L | [ km[ 09F[ 211
1f12.0 | 5.0 ] 8.5 |[\Nw 8.2 IN 7.0 N 8.2 [NNW  12.9 | i RIS HI | 9.6 [40.0 | 8.4 | 5.4
2 8.6 | 3.9 6.1 |NNE 2.6 |ESE 3.0 |s 2.6 |WNW 6.2 | WEHEx R B i H2 | 3.2 ]25.0 | 6.3 | 1.6
312.3 | 3.8 | 8.2 [N 1.5 |NNE 1.0 |SSE 1.5 |WNw 8.2 | WgE 2 H5 | 6.0 [20.0 [-3.0 | 4.5
4 9.3 | 6.5 | 7.6 |ENE 3.1 |NNE 3.0 INE 1.5 |\ 4.1 | & & F3 —|15.0 ] 6.7 | 5.2
5l10.3 [ 5.1 ] 7.7 N 2.1 |E 3.0 [E 1.5 |s 2.1 | B g | B 5 ).1.81.80).46] 40
6j13.1 | 4.6 | 8.0 |N 3.6 |NNE 5.0 N 5.7 |\ 4.1 | P i 1% 2 H1 §10.0 [30.0 | 6.7 | 2.6
7010.9 | 4.7 | 7.4 NE 1.5 |E 2.0 |SSW 4.6 |Ssw 3.1 | W—mrE i H4 | 6.4 [20.0 | 5.2 | 0.5
813.7 | 4.5 | 7.6 N 4.6 N 6.0 N 7.2 |WNW 252 | e i H1 | 9.9 [35.0 | 9.0 | 5.6
of 7.8 | 41| 6.2 NE 1.5 |E 2.0 [E 1.5 |ESE 3.1 | & SR | HE —125.0 | 2.7 | 4.9
10014.1 | 4.0 | 8.5 |N 2.6 |NNE 5.0 |SE A LNNE 7.2 | MR iee | MR -REa ) HLE 7.9 120.0 1 3.8 | 1.9
1y 9ol 51| 6.9]|N 3.6 |ENE 3.0 [E 3.1 |SE 5.1 | = i i 2 22 12§ 0.4(150]6.6]| 3.5
12014.2 | 3.1 | 9.1 INE 1.0 |s 2.0 |s 6.2 |\ 6.2 | MEtL—FEEE| REE H2 ] 9.7 [30.0 | 5.2 | 2.8
13§17.0 | 5.9 [11.9 |NNE 2.1 |sw 7.0 |Ssw 7.7 |sw 15.9 | & M — H5 —130.0 |-0.4 | 7.1
14§24.8 [11.8 [17.9 |Wsw 4.6 N 3.0 |ESE 2.1 |w 14.9 | HE—BF R i — H1 | 7.5 [15.0 [-2.1 | 2.4
15014.7 [10.1 [12.2 [N 2.1 |ENE 3.0 [E 1.5 |s 7.2 | W a2 = F3 | 2.8 1200 5.1 3.9
16§15.1 | 3.9 |[10.5 |sw 1.5 [E 4.0 |NNE 2.6 |WNW  14.9 | 2R = HI | 3.0 [15.0 | 3.7 ] 8.1
17 9.5 [ 1.9 | 5.1 [N 5.7 IN 7.0 [E 4.6 |NNW O 11.8 | I i i 2 22 H1 | 7.7 [30.0 | 8.6 | 7.3
18 9.4 1.6 | 5.7 |N 2.6 |ENE 3.0 |E 3.6 |W 9.8 | WE—IiEZ| Ky H1 | 9.8 [40.0 | 5.7 | 1.8
191 9.9 2.6 | 6.4 [N 6.2 |NNE 3.0 |ESE 3.1 |WNW 18.0 | B ] n2 ] 67 |30.0]9.6]6.1
200 9.8 |1 2.4 | 5.7 N 4.1 |NNW 1.0 IN 1.5 |s 18.0 | Mithe= i — A2 L2] 1.0 40]-2.0] 0.0
10.4 | 3.5 ] 6.6 |N 6.2 |NNE 4.0 [E 3.1 |WNW 14,9 | I i H1 | 9.6 [40.0 [10.3 | 2.7
14.0 | 1.4 | 8.4 |N 3.1 |ESE 3.0 [wsw 4.6 [sW 6.2 | MELE E—FEE%E| 15 | 7.4 [20.0 | 3.3 | 3.1
13.0 | 4.9 ] 6.9 N 6.7 IN 5.0 |NNE 3.6 |SE 7.2 | WtE—WEE | 2R L2 —1 5.0 |-0.6 | 3.2
7.6 | 4.0 | 5.3 |ENE 2.6 N 3.0 |NNE 2.1 |ESE 5.1 | &% R F3 —l10.0 ] 5.2 | 0.1
11.3 | 4.1 ] 7.2 IN 2.1 IN 3.0 INE 1.5 |ssW 14.9 | Withs = . L3 —| 1.5 |-3.7 | 0.5
9.3 | 4.7 7.2 |ENE 3.6 |NE 2.0 |NE 2.1 |SSE 4.1 | EWex N T E 2 2 H3 —|15.0 ] 8.0 | 4.7
49| 1.5 ] 3.3 N 5.2 [N 4.0 IN 5.2 [E 4.1 | W FRIRE 2 42 L3 —|50]36] 19
10.3 | 3.6 | 6.9 N 3.6 |NE 3.0 |ENE 3.1 |NNE 8.7 | & & H3 | 2.2 [15.0 | 5.3 ] 5.1
— FRR214E 3 A
B Xl H i £
# ) J& A JE ES | 2| R E
°C m,/ s A &I EN S JE °C
=1 EEEE BRI 0N BES 0 9 f T 2 F T 50F T00O0m (06~18h) (18~Fo6h) | ® | ™ km|[ O9WF[ 21MF
M 81]49]66 |\ 1.5 INNE 3.0 |NE 2.1 |ESE 5.1 | MifGx AT —115.0 | 5.8 6.4
2d10.9 | 2.8 | 6.7 |N 5.7 IN 7.0 |NNE 3.6 |Nw 10.8 | prE 1A H1 10.7 [30.0 | 8.2 | 4.9
3 6.3 1.1 3.3 |[E 3.6 |ENE 3.0 INE 2.1 |SE 3.1 | 2% KENE R L3 —130.0 | 8.2 | 5.4
4 9.0 1.1 ] 5.6 N 5.2 |NNE 4.0 |ENE 1.0 |NE 7.2 | %W R R | F3 —| 80 ]-0.3 6.9
5013.1 | 4.2 | 8.5 [NNE 3.1 |E 2.0 |s 4.1 |SE 3.1 | WEfL —FEEE B —IFH H3 0 9.7 [40.0 | 7.2 | 6.1
6j11.4 | 5.6 | 8.0 |N 5.7 IN 6.0 IN 8.2 ISSE 15.9 | KW S it | L3 —|50]06]6.2
7015.8 | 8.8 [11.3 [N 5.7 IN 2.0 |ESE 4.1 |WNW 2101 | KRR x 2 = H2 | 6.1 [30.0 | 5.8 | 4.0
8] 9.6 | 7.8 ] 8.4 N 4.6 |NNE 2.0 |NNE 2.6 |S 3.1 | &—KFE & 13 —130.0 | 6.1 2.9
9fi1.6 | 7.0 ] 9.6 N 2.3 IN 2.8 |E 1.5 |s 5.0 | &K 2 F3 ) o1 150 6.1] 3.5
1017.9 | 6.4 [10.8 |N 3.6 IN 4,0 |ENE 2.6 IN 9.8 G g W) B iR H1 ) 3.5 120.0 | 4.3 ) 1.7
1114 | 43| 7.4 N 4.1 N 3.0 |s 4.1 |www 12,9 i — 2 H2 | 4.0 [40.0 | 8.9 | 1.5
12012.5 | 4.2 | 7.9 |N 6.7 IN 5.0 |ESE 4.6 |NNW 6.2 MR 2R | H3 J10.9 [40.0 | 9.4 ] 6.9
13§13.9 | 4.9 |10.0 |s 1.5 |sw 7.0 |ssw 5.7 |ssw 14.9 55 L1 | 25150 57| 3.6
14§15.8 | 5.3 |11.8 |SSw 7.7 |sw 7.0 IN 3.1 [ssw 31.9 el F2 —| 505352
15013.8 | 3.8 | 8.7 N 3.1 |ESE 3.0 |SSE 4.1 |wnw 18.0 S ) H4 f11.1 [40.0 | 8.6 | 3.0
16§17.1 | 5.9 [11.2 [N 1.5 |ESE 3.0 |SSW 4.1 |SE 1.0 Wi 2 s | H4 [10.8 [30.0 | 6.5 | 5.7
17§20.2 [10.5 |14.5 |sw 7.2 N 9.0 |SE 4.1 |sw 13.9 S 29680 27|49
18§20.3 | 8.8 [14.4 [N 2.6 |SSE 3.0 |sw 8.8 |ssw 11.8 Pl H4 §10.3 [10.0 | 3.2 | 3.9
19§21.7 [11.9 [16.9 |Wsw 2.1 |sw 7.0 |ssw 8.8 |SSE 1.0 | W—me | 2% W | 04 J10.4 ] 80 03] 6.0
20018.5 | 8.3 |14.1 |SW 6.2 [SSE 3.0 |ESE 2.6 [W 11.8 | S —TERTRNT) Pems 13) 49 |1.0)62]786
21]15.5 | 6.5 [11.1 |E 4.1 |ESE 3.0 |SSW 5.7 |SSE 2.1 | Wit —Fem | & FERE H2 J10.4 [40.0 | 7.1 | 3.8
22016.9 |12.8 |15.1 |s 7.7 |SSW 8.0 |s 3.6 |sw 20.1 | FHRGx 2 FRIF % [ L1 —115.0 |-0.3 | 0.0
23]16.3 | 7.5 |12.5 [N 9.8 N 8.0 IN 6.2 [NW 6.2 | ME%RE Efh—IFN HI | 5.4 |25.0 | 9.9 | 3.2
24]11.1 | 6.6 | 8.4 [E 2.6 [E 4.0 |ESE 2.1 s 4.1 | &—HKF i H5 | 0.6 [15.0 | 8.0 |-0.4
25010.9 | 6.7 | 8.3 |E 3.6 |E 2.0 |SSE 2.6 |SE 8.2 | Z2rrxH 22— | L2 ] 1.0 [10.0 | 5.8 | 4.3
26]12.9 | 3.5 | 7.7 |N 3.1 |SE 3.0 [E 3.1 |Nw 2.1 | ww= sonens | B H2 §2.5 1130.0 | 7.7 | 3.0
27012.4 | 3.6 | 7.8 N 6.2 |ENE 3.0 [E 2.6 |WNW 1.0 | %2 | EFEAH H1 §7.7 1]20.0 | 8.1 | 6.4
28110.7 | 5.3 | 7.7 NNE 3.6 N 4.0 |SE 3.6 |Nw 8.7 | & iR H3 | 4.8 [30.0 | 6.7 | 4.6
29]12.5 | 4.6 | 7.9 N 5.2 INE 4.0 |ESE 3.6 |\ 10.8 | HE—FHE | 2% K H3 ] 7.3 [15.0 | 8.7 | 6.9
30012.6 | 5.1 | 8.8 [NNE 4.1 |E 4.0 |ESE 3.6 IN 3.1 | W = H3 f11.6 [40.0 [10.5 | 4.9
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